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Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1.
» Anything times5 HASto end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoend in aO. Ex. 10x7=70 10x16=160 3.
\ /
4,
1) 5x592=2960 2) 482x2=965
5.
3) 2x764=1528 4) 10x992=19,923 6.
7.
5 607x2=1215 6) 10x527=5,275
8.
7) 119 x5=597 8 5x162=811 9.
10.
9) 379x2=758 10) 598 x 5=2,991
11.
11) 5x191=958 12) 5x531=2655 12
13.
13) 10x851=28,510 14) 145x10=1,454 u
15.
15) 103 x2=207 16) 5x548=2,740
16.
17) 818 x 10=28,180 18) 538x2=1,076 17,
18.
19) 2x828=1,656 20) 963 x 10 =19,633
19.
20.
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Determining Reasonable Answer Name: Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1 YES
» Anything times5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2. no
« Anything times 10 HAS to end in a 0. Ex. 10x7=70 10 x 16 =160 3. YES
L J
4. no
1) 5x592=2,960 2) 482 x2=965
5. no
3) 2x764=1528 4) 10 x 992 = 9,923 6 no
7. no
5 607x2=1215 6) 10 x 527 =5,275
8. no
7) 119x5=597 8) 5x162=811 9. yes
10. no
9) 379x2=758 10) 598 x 5=2991
11. no
11) 5x 191 =958 12) 5x531=2,655 12 A
13. YES
13) 10x 851=238,510 14) 145x10=1,454
14. no
15. no
15) 103 x2=207 16) 5x 548 =2,740
16. YES
17) 818x 10=8,180 18) 538x 2=1,076 17 yes
18. YES
19) 2x828=1,656 20) 963 x 10=9,633
19. YES
20. no
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